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S. Figure 1: Subgroups Forest Plot for a. virologic cure, b. radiological improvement and c. ventilator required showing an individual and pooled 0R for studies comparing HCQ treated patients with control. 
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Mechanical Ventilation:

HCQ +- Azithro  Control 0dds Ratio 0dds Ratio
Study or Subgroup __Events _ Total Events Total Weight M-H,Random, 95% CI M-H, Random, 95% CI
141 HCQ +- Azithro
Borba 4 20 2 19 133%  2.13[0.34,13.24]
Magagnoll 19 191 25 177 212K 0.67 [0.36, 1.27]
Rasenberg 199 735 18 221 218% 4.19 [2.52, 6.96]
Subtotal (95% CI) 946 417 56.3% 1.79 (0.43, 7.55]
Total events 222

Heterogenefty: Taw* = 1.34; Cht = 18.75, df = 1 (' <0.0001); F = 90%
Test for overall effect: Z = 0.80 (P = 0.43)

1.4.2 HCQ + Azithro + Zinc

Carlucc 33 411 BE 521 22.2% 0.44 [0.29, 0.68] —-—
Subtotal (95% CI) 411 521 22.2% 0.44 [0.29, 0.68] -
Total events. 33 86

Heterogenehy: Not applicable
Test for overall effect: Z = 3.78 (P = 0.0002)

143 HCQ
Rosenberg. 51 271 18 221 215K 2.61 [1.48, 4.62]
Subtotal (95% CI) 271 221 215% 261148, 4.62]
Total events. 51 18

Heterogenehy: Not applicable
Test for overall effect: Z = 3.30 (P = 0.0010}

Total (95% CI) 1628 1159 100.0% 1.42 (051, 3.99] | -

Total events. 306 149

Heterogenehy: Taw? = 1.20; ChF = 55.68, df = 4 (P < 0.00001); F = 93X P e— 1o 100
Test for overall effect: Z = 0.67 (P = 0.50) Favours [HCQ +- Azithro] Favours [control]

Test for subgroup differences: ChP = 25.09, df = 2 (P < 0.00001), F = 92.0%
Viral Seroconversion

HCQ +- Azithro  Control 0dds Ratio 0dds Ratio
Study or Subgroup __Events _ Total Events Total Weight M-H,Random, 95% CI M-H, Random, 95% CI
121 HCQ +- Azithro
Chen) 13 15 14 15 BSK  0.4610.04,5. 151
Gautret 14 20 5 16 18.0% 5.3 [1.23,21. —_—
Huang 10 10 11 12 54%  2.74[0.10,74 m
u 13 15 14 15 B5%  0.46[0.04,5.75
Tang 6 75 61 75 27.0%  13410.56,3.17]
Subtotal (95% CI) 135 133 67.4% 160 0.72, 3.57]
Towl everts 114

Heterogenehy: Taw = 0.14; ChF* = 4.70, df = 4(? =0.32); P = 15%
Test for overall effect: Z = 1.15 (P = 0.25)

1.2.2 HCQ + Azithro

Gautret... L] 6 5 16 6.2% 27.18[1.29,574.32] ————
Subtotal (95% CI) 6 16 62% 27.18 [1.29, 574.32] | e IR
Towl everts & 5

Heterogenehy: Not applicable
Test for overall effect: Z = 2.12 (P = 0.03)

123 HeQ

Chen). 13 15 14 15 B5%  0.4610.04,5.75 _
Gautret. 14 10 5 16 18.0% 5.13 [1.23, 21.36] —
Subtotal (95% CI) 31 26.4% 1.95 [0.19, 19.73] | —eesEESEESRRRe—
Toml events 27

Heterogenehy: Taw = 1.81; Ch = 2.66, df = 1 (r =0.10); F = 62%
Test for overall effect: Z = 0.56 (P = 0.57)

Total (95% CI) 176 180 100.0% 2.08 (0.9, 4.76] -

Towl events 147

Heterogenehy: Tau? = 0.47; ChF = 10.96, df = 7 (P = 0.14); F = 36X ot o i 1 00
Testfor overall effoct: 2 = 1.73 (P = 0.08} Favours [HCQ +- Azithro] Favours [control]

Test for subgroup differences: Chit = 3.10, df = 2 (P = 0.21), F = 35.4%

Radiological Improvement:

HCQ +- Azithro  Control 0dds Ratio Odds Ratio
Study or Subgroup Events Total Events Total Weight M-H, Random, 95% CI M-H, Random, 95% CI

Chen) 5 15 7 15 382%  0.5700.13,250] —

Chenz 25 31 17 31 456%  3.43[110,10.70] —=—

Huang 10 0 9 12 162%  7.741035,170.10] —_—tT
Total (95% CI) 56 58 100.0% 1.98 [0.47, 8.36] ——eEfi—

Total everts 40

Heterogenehy: Tau? = 0.85; Chf = 4.37, df = 2= 01 Pmsax ot o 1 T 00

Test for overall effect: Z = 0.92 (P = 0.36) Favours [HCQ +- Azithro] Favours [Control]




